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HEEREANRL 248 907 EE

FiaHRO COSE <IED (Hm) 240 yGiEES

FIaHERO COSE <IED6MEA 1,440 ks

FiaRRIYvF— RED 158A 1,090 JGiEES

FBHRRNIE—D 5KA 583 ks

FIRERRNAE—D 184K A 1,890 EF

FIBHRRZ I SMNDE 5HKA 583 ks

FEHRRZA I SN E 18K A 1,890 ks

EHOREDEIEEDTRF RAE 709 430 ks

FIaRRERA DD 158 398 JGiEES

FiakRAO b—>335 FahlH5 (Em) 230 yGiES

FRHRERN b—>305 FEDIHE 5EA 1,080 ks

FeHRRA b—>305 FEDIH5 10EA 2,160 ks

FREDSURLD b—2305 FanlH5 (Em) 230 ks

FREDURD b—>2305 FanIHE S5EA 1,080 EF

FERREBEDw S HFRE=AT70g 990 ks

FRERRDSUE R (Hm) 388 ks

FEEIDS U 5k 4EA 1,555 GRS

FiaRERT U 4EA 1,188 JGEEES

FIaiRoRREEER 399 EFIRTE
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EERES 4% (Bead) B 5c HA R
FEHREZVAL 6EA 1,389 B
FERR=ZEBILVA (F - &KX - (F50R) 6@A 1,695 WERTE
PERFOEFEZAEAIBEA 777 WERE
FERRES L TN—& 16HIA 1,090 B
FEHERO—I/ILT—=F 1,690 B
ERFEO—-I/ILT—F 1,998 NEPRTE
FERR/NSY—H 2 R H#FEDHEE 1,080 B
KR/ T )\— (Fo5%w) 540 ke
®FE/INTT)\— (LWBD) 640 B
HWER/INT /(- (<K5) 590 B
®WR/INT /)= (&EB3UHB) 590 B
HRRINTT)\— (BASSA) 590 B
FRERIRZ(E 200g8A 349 B
BRFIFIC LA —AAN 350 B
TR DL — 180gA (1AHD) 550 B
[S-1] FEHFERZE 38ty ~ 1,150 B
[T-2] FEHERZ(E 38 - D6ty ~ 1,990 B
[N-3] FEHRETE 38 - D6 - (CUA3AREY ~ 3,240 B
YERE 3,240 B
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EERES {4 (A ) B 5t RA
«HRF>H L 30gHEA 3,240 1B
«FEKFZ»H U AK 30gFEA 2,160 1B
«HEKF»BFEFEDFH 30gEA 1,620 k=S
«EF»>FBHED 30gEA 1,080 1B
«RIZ»EE 100g%= 2,160 1B
«HIZe»5[E 5094 1,080 k=S
«RIZR>=EL 100g%= 1,620 yL::E=
«HIF»>EHED 100g5R 1,080 1B
«FIZF»>EHF 100g= 540 BE
«EE>FADULSA 5004 2,700 yL::E=
«ETE>HEE 10094 3,240 1B
<A EFR»>FIELL 100g= 1,080 B
«EENDHMR»FEOAR 100g42 1,620 yL::E=
KMOBRSHEBRA DDA 100g42 756 y::E=S
SKTRF>ERRA DICKSFR 200gR 756 ik
SKTRF>PIRIZCKE 200g%= 648 yL::E=
«[FSUFR»>ENSD 100g&=A 756 k=S
«REF>RIFAZ 300g= 540 I
«RAER»FIERERT 1 —/\WwJ 5gx12p 864 B
«BAR>HIERT+—/\w 5gx12p 864 B
«BAEA»FDUHRT«—/\wJ 5gx12p 864 yGEEES
«FEAGEFRESFERTMTEY & 1,360 T
RERSS 4004 648 yGEEES
J1)—>F 4 — 3009 578 1B
it UEEES0g A 1,729 ZERE
EEFEA HE 100g 3,780 k=S
FIZREA =HED 105g 1,620 B
FIREA =11 1369 2,700 B
MR BEHREA FALL 1059 1,620 LRSS
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[FA-23] FR#RTY N (FEIE 2HED - MRER FAL) 2,386 1B
[FA-33] 825w b ams sxE0x2% - NRER FAWL) 3,466 1B
[KA-29] $#&RTw b Gamz =g - HARER FAL) 2,926 1B
[E-52] $#&Rtwv b (=amx BEA - TAEE HE) 5,626 1B
[C-52] #®&FTwY b (Famx 2#E0 - FTaEE HE) 5,400 1B
[C-31] #®&FRTY N (FTamE 2HE0 - HARERE AL 3,240 1B
«FEE»>F|AtY & 7,700 e
FEBEARFEFAAUZSFHILYA AT o — 2,860 1B
«PH - WFEDHE D »FEHEF X FAAE 180m 1,390 1B
«B - WFEDHE D »FEHEIR X FAAE 500ml 3,690 B
«HM - WFEDHED»>FEHRFZXTFEOEE 200m| 1,390 1B
«BM - THEDHED»>TFREFZXFTAEDOIBE 500ml 2,660 1B
«HMW - WFEDHED>FREFZIXFHEE DT> 300ml 1,320 e
«HM - WFEDHED»>FBHRFZIXFHET 1> 500ml 1,980 1B
«PH - WFEDHE D »FIEFIF KBRS 180m 1,390 1B
«BH - WFEDHE D »FIEFIF X KBS 500m 3,690 B
«H - WFEDHED»>FEHFEFRTF I3 IDOHE 500m| 3,340 1B
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